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INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for cach question.

If more than onc answers are marked, it would

be treatcd zs wrong answer.

Each question has four alternalive responses

marked serially as 1, 2, 3, 4. You have to darken

the correct answer.

Therc will be ne ncgative marking for wrong

BNSWEL.

The candidatc should ensure that Reil Number,

Subject Code and Series Cade on the Qucstion

Paper Booklet and Answer Sheet must bc same

afler opening the envelopes. In case they arc

diffcrent, a candidate must obtain anocther

Question Paper of the same series. Candidale

himself shall be responsible for ensuring this.

Mobile Phone or any other electronic gadget in

the examination hall is strictly prohibiled. A

candidate found with any of such cbjectionable

material with him/her will be strictly deall as per
rules.

The candidate will be allowed to carry the carbon

print-oul of OMR Response Sheet with them on

conclusion of the cxamination,

If there is any sort of ambiguity/mistake either

of printing or factual nature then out of Hindi

and English Version of the question, the English

Version will be treated as standard.

Warning : 1f a candidate is found copying or if
any unauthoriscd material is found in
his/her possession, F.LR. would be
lodged against him/her in the Police
Station and he/she would liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commissicn may also
debar. him/her permanently from all
futurc  examinations of the
Commission.
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Year ‘when the population of India got doubled first time ?

() 197 @) 1981
3) 1991 (4) 2001
ERORRtD : (2) 1981
(3) 1991 @ 2001
2 Which of the following Indian state have highest density of population ?
(1) West Bengal (2) Uttar Pradesh
(3) Madhya Pradesh (4) Rajasthan
ﬁmﬁ%ﬁﬁa_ﬁmmﬁaﬁé@ﬁmﬁa@m% ?
(1) uhyE T (2) T WA
() W W (4) TerAE
3 Which region of Africa is less poputated ?
(1) Northern Aftica (2) Western Africa
(3) [Eastern Africa (4) Southern Africa
b % Rew wwt H e e T 7
(1) wad SR (2) Rl ST
3) R TR O AR
4 National Sample Survey Organisation conducts surveys o1l

¢y Demographic issues

(2) Health related 1ssues

(3) Quality life related issues
(4) Al the above

ot ad ad HE
(1) s el 9
2) e gad fawal W

(3) Wwﬁéﬁﬁuﬁm
@) e @l W

Hﬁwm‘rﬁm%:
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Civil reglstratlon system is the authentic source to get

(1) Birth and Death related data

(2) Age structure of the population

(3) Age specific fertility rate

(4) Migration related data
| %ﬁﬁ?ﬁ‘r@aﬁﬁmaﬁmﬁawaﬁaﬁﬁtﬁ?—
Q) W omE g ¥ et

Q) TAEEr W Y "

(3) oy faitrs wome =X

(4) woeE ¥ watuh

6 Based on 2011 census arrange the following metropolitan cities in
decending order of their population size. Select the correct answer from
the codes given below :

(A) Chennai (B) Dethi
(C) Kolkata (D) Mumbai
Code :

1 ® O @& ©

@ O O & &

G O & O &

4 © & O & |
2011&%%%@%%%@@?&%@1%
wed wH ¥ emaied Hive ok W Ry w @ @ ﬂ@f?ﬁr{m
T BTG

(A) =g B) Taww
(C) il _ D) =
Code :

nH ® O A& ©
@ O™ © ®) &)
3@ O B © @A)
@ © B O A&

7 Which age group have more population in India ?

(1) 10-14 yrs. (2) 15-19 yrs.

(3) 20-24 yrs. (4) 25-29 yrs.

aid ¥ e omgert A wewEnm ot ¥ 7

(1) 10-14 =9 (2) 15-19 a9

(3) 20-24 a¥ (4) 25-29 Td |
216/ PORUSTD_A] 3 R 1Conea..
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8 Population projections are made on the basis of the trend of population
growth in the past __ . vears.
(1) 10 yrs. (2) 3 yrs.
3 5 yrs. (4 1 yrs.
SEEN YA W asi o) seRien gRs @ waft % emaw
W T A ¥ -
(1) 10 a¢ 2) 3 =f
3) S5 =d @ 1 ad
9 Census is important ' .
(1) To view country’s progress in the past
(2) For monitoring the on going schemes of the government
(3) To plan for the future
(4) All the above
ST HEEE E -
(1) ¥ % qhdl R #w @y ¥ R |
2) T & W aemel ® FRE F R
(3) whr &t O =\ F R
(4) SulEa ¥
16 Countries where aged people count more than 20% of the total population.
(1) Italy, Japan, Germany
(2) USA, UK, Russia
(3) Bulgaria, Denmark, Norway
(4) Estonia, Latvia, Slovenia
A T R W TSN HH TRE B 20% q oy -
(1) soll, Smae, W
(2) gudy, 4%, &9
(3) =&, s, W
(4) uedFrn, el @Rt
11 Countries where fertility rate is below replacement level.

(1) Tonga, American Samoa, Tazikistan

(2) Singapore, Macao, Poland

(3) USA, UAE, UK

(4) Afganistan, Algeria, Burkinafaso

491 WET TS I Wie e 'Y od e -
(1) <&, smfwea wden, aiTReeT

(2) RIYR, We, Wve

(3) 9uEe, 99, I

(4) BTG, sesifa, gBmAEE!

216/ POPUSTD_A) 4 NIy 1Con...
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12 What are responsible for population change in a given geographical area?

Select the answer from the codes given below :

(A) Death (B) Birth

(C) Migration (D)  Marriage

‘Code :

(1) (A) and (B) (2) (A) and (C)

(3) (C) and (D) ) (A), (B) and (C)

ol e &9 W weden wieds & g e 8 @ @ Reier ¥ 7

A g @ § W8 SO @l uEd @iy

(A) 7Y (B) wH

(©) wa (D) fears

E‘Eé :

(1) (A) 3R (B) 2) (A) #iT (©)

(3) (C) st (D) 4) (A), (B) 3R (O)
13  Which of the following comes under migration ?

(1) Going to another place for education

(2) Going to another place for business

(3) Going to another place after marriage

4) None of the above |

[t M BT & B S L

(1) fam & foT @ e ) S

(2) =oEm % fau gEy wE u W

(3) faer usOw @Y WA W A

() SwE ¥ ¥ wiE T8
14 One is said to be emigrant if he settles in

(1) Another state (2) Another district

(3) Another country (4) Another city

By W) SHER! HEOET uly 98 W1 9@ -

1) @ T H (2) a5 F

(3) WY W H (4) gEYy @y W
216/ POPUSTD_A| S BN 1Coned..
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A settlement with more than 5000 population is said to be urban if majority

.of natives are engaged In -

(1) Handicraft (2) Agriculture

{3) Service (4) Other than agriculture

5000 ¥ oifyes SEEN 9 W@ sl wEarel afy sfmisn @R
®H K W OE

(1) z@hiwy o ) Ny F _

(3) A @) N % o wdl e H
In India, urban population in proportion to rural population has increased
(1) More ' (2) Less

(3) Equally (4) Nothing is clear

IR H el SERl wnier e ¥ eru #

(D oifw <@ ¥ @ @ af ¥

(3) @i s % 4 w= T T

Which Indian state has highest percapita income in the following ?
(1) Sikkim (2) Haryana

3) Goa (4) Maharashtra

Fremfen ol et ¥ wed ofve ofy =fe o B S 2 7
(1) Tafrsn @) =i |
@) e @ weTg

Reason of decrease in underground water is

(1). Shortage of rain - (2) Increase in population
(3) Run off rain water (4) Increase in consumption
I A B Bl BT T -

(1) aui &0 %0 (2) SEEE W g

(G) T w@ w = w S @) W SEE ¥ wedd

Which of the following is the indicator of development in the country ?
(1) Increase in sensex (2) Increase in GDP
(3) Increase in wages (4) Increase in GNP

T o Q@ wiEr Su % Te @ d%aw &7
(1) 9w 4 gl ) EN ¥ "Il
(3) uhEfye N FE 4) seadfl 4 el

I (Conta...
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(1) Teell, W, SO
(3) &R, weifr T (4) o, §EEI, g

Which of the following group of countries come under stage four of
the demographic transition ?

(1) -htaly, Spain, Japan (2) Brazil, Argentina, Equador

(3) Bolivia, Cambodia, Egypt (4) Angola, Burundi, Bulan

Frmiee o & aof ® B wgE Siked wmET ¥ g @um % e
AT ¥ P

(2) 9N, St g

States which has lower female mortality rate than the national average
of 178 :

(1) Bihar, Jharkhand (2) Madhya Pradesh, Chattisgarh
(3) Uttar Pradesh, Orissa (4) None of the above

o vt F o gga e efmw 178 @ N § 7
() FerR, sras (2) W WY, SHETS
(3) TORX W, L 4) STUF H | wE TE

Which of the following option in your opinion can work as an effective
contraceptive ?

(1) Temale education

(2) Participation of female in income generation
(3) More freedom to female :

(4) All the above

mﬁm?ﬁﬁmﬁ%ﬁ#wﬁmmﬁwwﬁuw@nﬁﬁ'&w
o oasar & ?

(1) =i Bren (2)ema=?rfr'6?ra?rwhm'&
(3) #Aften w ofem @R (4)  Suded wd

First CMD of Mahila Bank in the country is
(1) Usha Ananthasubramaniom (2) Chanda Kochar
(3) Arundhati Bhattacharya (4) Chitra Ramkrishna

< A wRet % & vl yer sEerd PR ¥ O?

(1) ST oFeTgswead C(2) HE PR
(3) oreula wgraw (4) T IERpe
216/ POPUSTD_A] 7 ANLIINARTNY (Coned...
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Branch of Bhartiya Mahila Bank in Rajasthan is in

(1) Jodhpur (2)  Jaipur
(3) Ajmer (4) Kota
IRA™ AR S @ TR §ogrEr §

(1) hyge o (2) IR ¥
(3) oY # | 4 @z H
Life expectancy for women in India is _
(1) 65 yrs. (2) 63 yrs.
(3) 62 yrs. @) o1 yrs.
WRa H i @ oflaw ameien omg ¥ -
1) 65 a4 ) 63 99
(3) 62 =9 4 61 of

After going through the Assertion (A) and Argument (B) select the correct
answer :

Assertion : (A) Male predominence at birth in biological phenomenon

Argument : (B) There is no need of female foeticide

(1) (A) is correct but (B) is wrong

(2) Both (A) and (B) are correct and (B) is correct explanation of (A)

(3) (A) is wrong but (B) is correct _

(4) Both (A) and (B) are correct but (B) is not the correct explanaiion
of (A) .

aﬁ&nﬁaﬁnﬁmm)aﬂta%(masenwmaﬁwgﬁﬁ:

afeehe : (A) W ¥ gew wuriar SR wewm ¥

T (B) WlE T B B onavawar T8 T o

D A "t g ®B) ™

(2) (A) 8T (B) A ®& ¥ &l (A) = (B) W& whiever ¥

By (A) T T wrg B) € %

) (A)@T(B)aﬁaﬁr%imﬁm)m(mvé’rmﬁmmﬂﬁ%

As per 2011 census the number of females per 1000 male in India is
(1) 931 () 933

3) 928 {4y 937

WA H 2011 & SR ¥ SIgER W 1000 ol q¥ Afrwen @
gem ¥ -

(1) 931 (2) 933

(3) 928 (4) 937

MR 1Conto..
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As per 2011 census which of the following group observed highest decadal
growth of population in Rajasthan :

(1) Pali, Kota, Jhunjhunu, Ganganagar -
(2) Dungarpur, Jalore, Bikaner, Pratapgarh
(3) Jaisalmer, Barmer, Banswara, Jodhpur
(4) Udaipur, Churu, Bharatpur, Dausa

2011 3 STOM % eER, woem ¥ fe ¥ @ f o gm § s

() uwl, W, gegd, TR

(2) STUL, 9N, dHFE, YGHTe
(3) EWWY, WIPAY, FEATST, Sy
() SR, &, WEYL,

Match List I with List II and select the answer from the codes given below :

29
List 1 ' List II
(A) World population Day (i) 1 December
(B) World AIDS Day (i) 8 March
(C) World Environment Day - (iti) 11 July
(D} International Women's Day (iv) 5 June
Codes : _
(A) (B) (©) (D)
1 @v) ® (iD) (iii)
(2) (i) ® (iv) (i1)
3) Gv) (iii) @) (i1) -
) (i) (i) (iv) ®
G [ F g 1 d gy ARG oft Y R o e ¥ @@ e W
YT HiNE
L I G |
(A) Tasg swEenr Raw @ 1 fwst
@) faa wzw Rew (i) 8 W
(©) faym guleww feag (i) 11 Fas
©) s wfewr ey Gv) 5 S
Codes :
(A) B) ©) D)
1 v ® (i1} (iii)
(2) (i) (@) (iv) (1)
3y ) (ii1) @) (i1)
(GO TN €31 B €) (iv) ()
216/ POPUSTD_A| o NI RMRE (Coned...
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" 30 As per 2011 census the poputation of Rajasthan is

(1) 67648437 (2) 68748437 !
(3) 68548437 (4) 66548437 i

_zo11ﬁaﬂw%wwaﬁmﬁm%—
(1) 67648437 (@) 68748437 :3
(3) 68548437 (4) 66548437

31  States which has more than 990 females per 1000 males.

1y
@)
3)
®
T
Q)
2
()
4

Meghalaya, Orissa, Mizoram, Goa

TamilNadu, Andhra Pradesh, Manipur, Chattisgarh
Kafnataka Himachal Pradesh Uttrakhand, Tripura
Maharashtra, Gujarat, Madhya Pradesh, Rajasthan

sl wivenel @ we 9k 1000@&“990%@%%
e, Seiw, AT, W
TR, SFUTRY, WYY, AT

o

Fem, feaEe weel, STEUE, [EvRy

32  Which of the following city have highest number of female workiné

women ?

(1) Mumbai (2) Chennai

(3) Bangalore (4) Delhi

Preifes § @ %a&mﬁamzﬁr@ﬁql%waﬁaﬁmwafhE%? {
(1) e @ ¥
(3) wmgE (@) fael

33 Disease from which India has been declared free by UN.

(1) Cholera 2) DPT

(3) Polio (4) Small-pox
q\.@.%wﬁaaﬁﬁﬁafmﬁgﬁsﬁﬁaﬁw% ?
(1) &= @) DA

(3) e 4)

216/ POPUSTD_A 1o IR [Contd--.
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34  Which one is affected most due to environmental degradation and resource

scarcity 7
(1) Industrialist (2) Wwild life
(3) Poor (4) Development
vt stamer v dEeEt @ 0w i @ v e 2
(1) Ry (2) I WA
3) T« @) TamrE

35 Formation of slum in and around cities is due to

(1) Lack of planning ~ (2) Shortage of housing

(3) In-migration (4) None of the above

el & X WH W ol Wi afaei % P @ erw ¥
(1) e %1 3T (2) omEE W oWl

(3)  owaw 4) Swiw ¥ ¥ B

36  Which of the following contributes to environmental acidification ?
(1) Thermalpower generation and other industrial activities
(2) Use of insecticide and pesticides in agriculture
(3) Waste disposal in open
(4) Emission from automobile
M= A B uglaer § sl wew § weanh T?
(1) adE foga sams wam o ol iRt
(2 TR F @ Ty @ wE
B) @& A BUU yuyd
@ TR @ e

37  As per 2011 census the highest growth of population has been
recorded in -

(1) West Bangal (2) Bihar
(3) Uttar Pradesh (4) Madhya Pradesh
2011 & ST ¥ ageR o9 efie e ghe @ %
(1) ufyew I o 2) Tew A
(3) TUX WRE ¥ (4) == wE9T ¥
216/ POPUSTD_A| 1 IR 1Conta..
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38 The effective way to bring down fertility rate in the country is to

39

40

(1) Increase in couple protection rate
(2) Increase in age of girls at marriage

(3) Run literacy mission

- (4) None of the above

%aTﬂfawaﬁazﬁmmma'&ﬁ%

() TRy gm =X A g
(2)a€%rz*ﬁfaﬁan€r£rmﬁqﬁg
(3) wear st
(4)@1’16613{%&?(%?@1

If the present growth rate of population continues India will beat China
in population size by

(1) 2020 (2) 2025

(3) 2030 (4) 2035
uﬁaﬁnﬁaﬂmqﬁgﬂﬁ@rﬁwaﬁmﬁﬁém
B wR

(1) 2020 ¥ (2) 2025 %
(3) 2030 ¥ (4) 2035 A

A life table presents

(1) The mortality history of a hypothetical group of people as it
diminishes gradually by deaths

(2) The infant mortality in a hypothet1cal group of people that occurs
in a calender year

(3) The maternal mortality in a group of people that occurs in 10 years

(4) Both mortality and fertility of a group of people

New it Wi w&l § -

) W%Wwwﬁaﬂﬁmﬁﬂ%wﬁaﬁm
S ¥

(2)M%Wﬁmwﬁ€ﬁaﬁﬁmﬁﬂgﬁﬁﬁ@ﬁﬂaa&ﬁ
oA #

(3). @l & WE A 10@&_%3@%5@&3&

@) @ ¥ @yE ¥ I A w ud Hg

216/ POPUSTD_A! 12 G (Conta-
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41 There are two school of thought, which one in your opinion is correct
with :respect to India.
(1) Unless population growth is checked, the scope for advancement in
any sphere of development wiill remain minimal
(2) If available resources are properly channelised and utilized, the growth
of population need not be hinderance to development
- (3) Both of them
(4) None of them
TE A PERURT ¥, oME ATE ART & 9w H e 98 ¥ 7
(1) w9 9% SEE ghe T8 SN 5 a9 H Reew wm wm
(2) afy Syas dOEEl W W SUENT (B WE A e R o
EICCN
(3) SuUE T
(4) SE ¥ ¥ By T
42 Which of the following human activities contributes the least to
pollution ?
(1) Digging a compost pit for garbage disposal
(2) Throwing waste into the river
(3) Buming of garbage
(4) Dumping waste on street pavements -
e g @ TS Be § 4 A Rty W weu wgwer @l ¥ 7
(1) e & @R 9 & WY ¥ W e
@ wR F T F Fw AW
(3) H W Fem IW
(@) F B A T W THH FT M
43  Which is the most effective method to communicate population education
message to out of school children ?
(1) Exhibition (Z) Role play
(3) Film (4) Discussion
WA T S TR d<dl @l SHEET @yl 4 % fog ged gwdr il
W W E 7
(1) wask (2) ot
(3) Tre 4 =@
216/ POPUSTD_A] 13 IR 1Contd.-
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44.

45

46

"Population when unchecked increases in a geometrical ratio, subsistance
increases only in an arithmetical ratio" who said this ?

(1) Giovanni Botero

(2) Quesney

(3) Thomas Robert Malthus
(@) - Cantillon

_“aﬂﬁwwuﬁﬁiﬁqﬁmmﬁmwﬁéﬁﬁmﬁaﬁ%

aﬂiémaq%ﬁaanfﬁﬁmmgqﬁi‘faﬁ%”a%ﬁwﬁww?
1) Pl R A

(2) e A
3) o = T
(@) ®EE A

Reservation for women up to 33% is i force In
(1) Local bodies

(2) Legislative Assembly

(3) All government services

(4) Only in medical services

afeaTell % THT 33% OTRET WA ¥

(1) e P o

2) Faum ww A

(3) W TowEhE waen #

(@) Faw PReer dmel ¥

What should be done to conserve na,t;ural resources
(1) Do not use natural resources

(2) Use natural resources wisely

(3) Restore natural resources

(4) Replace worn out resources

Wwﬁmmwaﬂ%%ﬁ%qwmm%q?
(1) ok wEeet &1 ST T B
(Z)Q@ﬁmﬁmaﬁm@mwﬁﬁﬁ

T3y wiphes gwmeR @ gERakn A

(4) Sl et @ ulrenfia wET

216/ POPUSTD_A| 14 I 1Conte--
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47 Which of the following statement is correct ?
Answer using the codes given below :
~(A) Most poliutants are harmful to health
(B) Air pollution is a global problem
(C) Pollutants destroy buildings and beauty of the environment
(D) Gaseous pollutants like sulpher oxides leads to acid rain
Codes :
(1) = Only (A) (2) (A), (B) and (D)
e B (A, B), (C) and (D) (4) Only (B)
L P R O@ s s W8 ¥ T
P R T g ¥ oS AN
(A) oftreay TEUE wwed % Ry Eiers I
(B) «rg vgwol dfvad uedl ¥
©) Wwﬁmaﬁw@wﬁfaﬁwn@ﬁ%t
D) T TGNE S GERT SEEES A gu wT T
& - '
) FEE (A) @ (A), (B) SR (D)
(3) (A), B), (C) T (D) (@) ad (B)
48 District of Rajasthan where literacy rate is highest ?
(1) Ajmer (2) Kota
(3) Jaipur (4) Jodhpur
eRAE % few T A wawen ofuw @7
(1) P (2) @
(3) AR (4) wEgx
49 District of Rajasthan with highest numbers of male literate.
(1) Bharatpur (2) Bundi
(3) Jhunjhunu {4y Dausa
R § Reg B ¥ gow wEwa qad ofw ¥
(1) AR @ 99
3 "gEl (4). 2
50 District of Rajasthan with lowest level of female literate.
(1) Jalore (2) Sirohi
(3) Dungarpur (4) Banswara
R % e R H wRen @Ewe gaq w1 ¥ 7
(1) @R 2) faa
(3) TR (4) =aEET
216/ POPUSTD_A| 15 IR I coned...
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